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Question Number : 1 Question Id : 802437226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Four identical cones with base diameter of 10 cm are compactly
placed inside a box in upright position. What will be the area of
square (in cm?) formed by connecting tips of the cones?

Options :

400
802437901.

144
802437902.
802437903. 100

25
802437904.

Question Number : 1 Question Id : 802437226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



=17 79T % oEw g wr s 10 a8, dEa =y g g Rt #
T ATHT B TE AT E | AT T AR H SIS g AT AT T FT ATAHA
(712 7) o=t Zrm 2

Options :
802437901. 400
144
802437902.
100
802437903.
802437904. 25

Question Number : 2 Question Id : 802437227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

How many hollow spheres having inner radius of 1 ¢cm can be
completely filled by transferring water from a completely filled
hollow sphere having inner diameter of 20 cm?

Options :

400
802437905.

802437906. 100



1000
802437907.

8000
802437908.

Question Number : 2 Question Id : 802437227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

q:{ﬂ'l'g":’mﬂ?ﬁafdﬁm SO ITf @i@e el O 9T 1 T HaE
SOTH 3ol WhEd Adl H HaRd & & fohde aitel g1 X 37 ol 8 7

Options :

400
802437905.

802437906. 100

1000
802437907.

8000
802437908.

Question Number : 3 Question Id : 802437228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



88 cm [

Drawing not to the scale

The two identical bags and two identical boxes are placed as
shown. The top of the table is at the height of
Options :

65 cm
802437909.

70 cm
802437910.

15 em
802437911.

80 cm
802437912.

Question Number : 3 Question Id : 802437228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Drawing not to the scale

& AHET 99 A &7 qHET 91241 =7 § ff@w v aqae @ 1w g |

HT 6T ST A998 6l SAT12 ... Bl

Options :

65 THT
802437909.

70 T+
802437910.

75 T+t
802437911.

80 IHT
802437912.

Question Number : 4 Question Id : 802437229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



log cumulative deaths

—
Days
(in linear scale)

The above graph shows the cumulative number of deaths during a
pandemic. The time intervals shown in the graph are equal. The

largest increase in the number of deaths was during the period
Options :
T1to T2
802437913.

T2t0 T3
802437914

T3to T4
802437915.

T4to TS
802437916.

Question Number : 4 Question Id : 802437229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0.5

W

log cumulative deaths
ad

T1 12 13 14 15
B
Days

(in linear scale)

2w o uTw § wETET ¥ 0 WA A A= ST S a9 T 2
UTH F T T THT FT S F77A THIT 8 | "l =1 aterwy i B aafa

¥ o ?
Options :
802437913. T ﬁ'TZ
T2H T3
802437914.
802437915. T3 ﬁ' T4
T4 3T T5

802437916.



Question Number : 5 Question Id : 802437230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The period of a pendulum is given as T = 2 1 (l/g)"? where
g = 9.81 m/s? and T = 3.1416. The period of a pendulum of length
1 m correct to the first place of decimal in seconds is

Options :
1.8

802437917.

1.9
802437918.

2.0
802437919.

2.1
802437920.

Question Number : 5 Question Id : 802437230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

ATA® FT e w7 = 2 1w (Ug)V2 % =1 |/ fomr mavr 2, ew
g =9.81 m/s2 TAT 7 = 3.1416. 1 HT @=TE T ATAF FT qHAT =&
TAH TATH TF Tl 2T 1 45 H.... 2

Options :




1.8

802437917.

1.9
802437918.

2.0
802437919.

2.1
802437920.

Question Number : 6 Question Id : 802437231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The sides a, b and ¢ of a AABC satisfy the equation
(a—8)2+ (b-15)%+ (¢ —17)*=0. Then AABC is

Options :

equilateral
802437921.

right-angled
802437922.

isosceles
802437923.

obtuse angled triangle
802437924



Question Number : 6 Question Id : 802437231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AABC #T 90 g, b T ¢ £ ST A= &0
(@a-8)2+ (b-15)2+ (c-172=0FT AqE Fval ¢ | T AABC 3

Options :

REL
802437921.

SEEDVIE
802437922.

RLEELE
802437923.

Tt ﬁ"ﬂa‘
802437924.

Question Number : 7 Question Id : 802437232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



In the given subtraction problem, each letter represents a digit
between 0 and 9.

T A S g
~ S R
2 T A 9

The values of R, A and T are, respectively
Options :

6,9,3
802437925.

4,8, 3
802437926.

6,9, 2
802437927.

4,2,9
802437928.

Question Number : 7 Question Id : 802437232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



BT AT =T FAT T H T0F A7 0 U5 9 & 39 UF &% T WA= 19T

FEAE
T A S S5
_ S R
2 I 9

R, ATAT T & HIT 2, FH:
Options :
6,9, 3
802437925.

4,8, 3
802437926.

6,9, 2
802437927.

4.2.8
802437928.

Question Number : 8 Question Id : 802437233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Three apartments, which are in a row, are occupied by Umar,
Ramesh and John. Only one of them is the landlord, whose
apartment is at one end. Ramesh’s apartment is not next to John's
apartment. The apartment on the left is not the landlord’s, the one
in the middle is not Ramesh’s and the one on the right is not John's.
Who is the landlord?

Options :
Umar
802437929.
Ramesh
802437930.
John
802437931.
The above information is insufficient to identify the
landlord.
802437932.

Question Number : 8 Question Id : 802437233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



T AR TFH ST FAX A g, oA 977, A AT FF /A | TA9 A
T E FEH-ATE g, e auEEE vE w1 A § | THT 7 JAEAe

i

ST & AITEHE & ATT A8l 2 | A2 a0 ATAT ATEHE FHRH-AT0A% FT

Bl , ST AT | T, g TH FT ALl £ A7 TS qCH Al 2, TZ T T ART
2 | FEH-ATE o1 & 7

Options :
SH
802437929.
THST
802437930.
802437931, o
TFTH-ATIF FT TZATAA F 0 FI7 & T TF47 AT 2 |
802437932.

Question Number : 9 Question Id : 802437234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



At a book-signing session, there are 5 authors who write only
single-author books and another 5 who write only in pairs. Every
author signs books that are authored or co-authored by him/her. In
order to collect signatures of all 10 authors, in the best possible
scenario, the minimum number of books that need to be purchased
is

Options :

802437933.

802437934.

802437935.

10
802437936.

Question Number : 9 Question Id : 802437234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



TF TEAS-gea AT T H, 5 G UH g (ol Teadi & F USHT ad® 2

T 7T 5 TIET § AgAAT £ | BT AGF AT 59T TA9T FI4 7 7@ 7

T T2 TFAF U7 gEATEAT T/ FEAT 2 | AHT A@ET F gEATAT ATH A

F HH |, TEA AgAT BATH |, FIET AT JTeAT TFashl &f -Aa9 J7AT. ...

4
<]
Options :
D
802437933.
6
802437934.
8
802437935.
10
802437936.

Question Number : 10 Question Id : 802437235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



The gross domestic products (GDP) and total populations of four
countries A, B, C and D in appropriate units are shown in the
accompanying figures.

GDP POPULATION

i ah

Countries with the highest and the lowest per capita GDP are,
respectively

Options :

A and C
802437937.

802437938. Aand D

CandD
802437939,

802437940. Cang B



Question Number : 10 Question Id : 802437235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

7 29T A, B, C T D & A%l 9ve] oIS FAT [T SAF67aT, ST
THIEAT |, o0 0 == § genw v €
GDP POPULATION

it h

HTHaR UF AR TTa o416 Al qee] SeAT8 ATl 39T, T

Options :
ATE C
802437937.

AT D
802437938.

CTaD
802437939.



CTH B

802437940.

Question Number : 11 Question Id : 802437236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In a class of 84 students, 29 failed in Science (S), 43 failed in Maths
(M) and 17 students passed in both. Which of the following Venn
diagrams is the correct depiction of the situation?

Options :
17 | 36| 24
M S
: 5
802437941.
38 |17 /24
: S
" 5
802437942.
38 /2417
M S
' 5

802437943.



38524
M 8

17

802437944.

Question Number : 11 Question Id : 802437236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

= T % 84 FEErirt # & 29 fAw (S) F ag=r g, 43 v (M)
H et g aaT 17 Fremedt et Gro=i § s g e § J e
a9-f== (Venn-Diagram) 7 fForfa %1 71g1 =7 7 3911a71 272

Options :
17 [ 38 24
M s
5
802437941.
38 (17 |24
S
" 5

802437942.




38 /2417

M s
: 5
802437943.
38/5) 24
M./ s
17
802437944.

Question Number : 12 Question Id : 802437237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A milk vendor has 50 L of milk and supplies 5 L to every customer.
After each transaction he adds 5L of water. What is the percentage
of milk contained in a litre of solution purchased by the fifth
customer?

Options :
65.6%
802437945.
72.9%
802437946.
83.1%

802437947.



802437948, 99.4%

Question Number : 12 Question Id : 802437237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

F g Tewar & T 50 1. g 2, oEH | 98 5 127 eI E UTew ol
TAT 2 | T =97 & 747 78 5 A2 Il HArar g | 5 F uew
E1EA ‘H*ﬁ%*ﬂ|; ":-1|:1 rgquqﬂ ﬁ:?j‘ﬂ'ﬁ Hm%lﬂ'ﬁﬂm %‘?

Options :

65.6%
802437945.

72.9%
802437946

83.1%
802437947.

802437948, 99.4%

Question Number : 13 Question Id : 802437238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

An expenditure of Rs. 96 was supposed to be shared equally by all

the students in a class. Since four students didn’t contribute, the

remaining students had to contribute an additional amount of

Rs. 4, each. How many students contributed?



Options :

802437949. 8

12
802437950.

16
802437951.

24
802437952.

Question Number : 13 Question Id : 802437238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T FAT F TAT FAEtAAt ®=r =T f7 7 96 T iy II1r H FIIA7 FHI
TNTETH &A7 AT | % 4 FH=ntd= § S0+97 TEET 70 (597, 99 g0
Tt a=T § 7 7w FT 4 FA07 FiA 59 I | T ESERECIPRIE
TRTETT Z4T?

Options :

802437949.

802437950.

802437951.



24
802437952.

Question Number : 14 Question Id : 802437239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

While calculating the average of twenty 2-digit numbers, digits of
one of the numbers got interchanged because of which the average
reduced by 1.8. The difference in the values of the digits of the
number that were interchanged is

Options :

802437953.
802437954.
802437955.

802437956.

Question Number : 14 Question Id : 802437239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AT AT AT AT FEATA & AT AT TAUAT FLA AT TF FEAT & ST A
ATAT-TTAT 31 T4 A AT | 1.8 FT FAT g2 | ATT-T& gl A ATA
FFTFFEIA AT7 .2 |

Options :




802437953.

802437954.

802437955.

802437956.

Question Number : 15 Question Id : 802437240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Based on the clues given in statements A to D, find the correct
3-digit number.

A. Two of the digits are present in the number 395, but they
are not placed correctly.
B. One of the digits is present in the number 718 and is placed
correctly.
C. None of the digits is present in the number 148.
D. One of the digits is present in the number 835 and is placed
correctly.
Options :
739
802437957
35

802437958.



379
802437959.

359
802437960.

Question Number : 15 Question Id : 802437240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

o

FA9 A T D’ F fRw wm wEAT F avene 97 A9 Sw0 A "@er "3
TEATH |

T & HeAT 395 § IUEAq 2, A T AT TET AT TE ARl 2 |

TF AT 718 H IUREAT 2, AT TF AT qE T LD

Tz AT % 7eAT 148 § UEAT 951 2 |

D. TUF &% F&a7 835 ®H TUEAT g, AT ATH Tal w9 T2 |

o wp

Options :
802437957.

£35
802437958.

379

802437959.



359
802437960.

Question Number : 16 Question Id : 802437241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which of the following plots represents the function y= x7?

Options :

1/%
802437961.

1/x
802437962.



1%
802437963.
-8
1/x
802437964.

Question Number : 16 Question Id : 802437241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Reritg § T SI9-A7 12 FAT y= X FT F97A7 272

Options :



802437961. Vx
=
1%
802437962.
-
1%

802437963.



1/x
802437964.

Question Number : 17 Question Id : 802437242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

1% of the population of a country is suffering from a disease. One
person undergoes a diagnostic test which has 98% reliability (i.e.,
98% of people who are sick test positive and 98% of the healthy
people test negative). If the person is tested positive, the chances
that the person is actually having the disease is, approximately

Options :

98%
802437965.

50%
802437966.

755
802437967. ”



33%
802437968.

Question Number : 17 Question Id : 802437242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T 29T H 1% SAET el AR =T ¢ | TF Sk JTA1 A51m®
o=, ot Feaasiaar 98% 2 (F9TT 98Y% =% &f & f19w 3, F o7

TOTH ARITeHE AT 2 AT 98% FTn 9T & T 2, & 9 qeod
THTITHS AT 2), FLATAT S | TS SH ATH % AT TEOTH THLTHE AT

2, AT I AT & JTeaa § STHTL ZIF 61 THTEAT AT F
Options :
98%
802437965,
50%
802437966.
?’5[:
802437967. ?
33%
802437968,

Question Number : 18 Question Id : 802437243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



A man of height 2 m looks at the top of a 40 m tall building from

some distance. The angle of elevation of his line of sight is 45°.

When he further moves away from the building by a distance x, the
angle of elevation becomes 30°. Then x is approximately

Options :

20 m
802437969.

12 m
802437970.

34 m
802437971.

28 m
802437972.

Question Number : 18 Question Id : 802437243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

U 2 |, SETE & AT, TF 40 HT. HHT THA & (977 F et 70 |
TAAT S | THEH G297 & ATT T99 T S9Te FT R/ 45° 2| I 78

THILT & X §F AT FAT ATGT g, a7 SHATE &1 H0r 30° T FT4T 8, a7 540

ERERl] Al

Options :



20 m
802437969.

12 m
802437970.

34 m
802437971.

28 m
802437972.

Question Number : 19 Question Id : 802437244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In an 800 m wide river, water flows at a speed of 9 km/h. A man can

row a boat in still water with a speed of 15 km/h. If the path of the

boat is maintained perpendicular to the flow of the water, then how

long will the man take to cross it?

Options :

12 min
802437973.

4 min
802437974,

6 min
802437975.

20 min
802437976.



Question Number : 19 Question Id : 802437244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

% 800 HT. FTET 4T 7, O & Y./ & WA F I FgAT 2 | UF Ah
a7 oY ® 15 B H#r /= ff af7 7 ama A awar 2 Jw, 9 o e
FT T F FETT 200 (2977 & FAATT 77T 9T 2 A7 T4T 7 17 FIA § TH =5

FT oAt a9 A9T 2

Options :

12 fH==

802437973.

4 o=

802437974.

6 fo==

802437975.

20 ==

802437976.

Question Number : 20 Question Id : 802437245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



On a large flat surface identical circular coins are placed in the most
compact arrangement without overlapping with each other. If the
number of coins available is unlimited, then the fraction of the
surface area that is not covered by the coins is closest to

Options :
1 - 1/(23)
802437977.

(2+3)
802437978.

1- T1/(3v2)
802437979.

/4
802437980.

Question Number : 20 Question Id : 802437245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T 9T THA A9 UT AET MATH g AfEwaw o e
AT 70T 7FT T T M0 E | ATE, TTAST (HET H HEAT AHEHA 5,
AT T AATA TN AL A A F A A TF A TNE, oo 7

Options :

1 - 1/(2v3)
802437977.



/(2 3)

802437978.

1- /(3v2)
802437979.

/4
802437980.

Part B Chemical Sciences

Section Id : 8024378
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 35
Section Marks : 70
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 80243712
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 802437246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



For the given reaction
[*Co(L)n]** + [Co(L)a]** — [*Co(L)n]** + [Co(L)a]**

the correct statement with respect to the rate of electron transfer
process is

o-phen = o-phenanthroline; *Co is labeled atom

Options :

fast electron transfer; L=NHa:h =6
802437981.

slow electron transfer; L = o-phen; n =3
802437982.

very slow electron transfer; L=NH3; n =6
802437983.

very slow electron transfer; L = o-phen; n =2
802437984.

Question Number : 21 Question Id : 802437246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



=1 Tt srfsyfeeT &% form

[*Co(L)nl** + [Co(L)al>" — [*Co(L)n]** + [Co(L)n]**
TAFZIT TATATACT T & 959 J A8l 49 ¢
o-phen = o-phenanthroline; *Co == TTATT

Options :
™ iy oy = *
T Zetagid Ao, L=NH3; n=6
802437981
s T2 #THE; L = o-phen; n = 3
802437982.
ATaHws T =T L= NHa; n =6
802437983
ATaH== TAFT TAHE; L = o-phen; n =3
802437984

Question Number : 22 Question Id : 802437247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Choose the correct order of energy of 204 and 11y molecular
orbitals for B2, C2 and Oq:

Options :

20g > 11y for all the three
802437985.



20g > 111y for B2 and C2 only

802437986.
11Tu > 20g for C2 and O2 only
802437987.
20g >111u for B2 and Oz only
802437988.

Question Number : 22 Question Id : 802437247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

B2, Co TIT Q2% 20g TAT 117y ATVAH FAHT &1 Hall FT Tgl FF AT

Options :

1 # forT 209 >1my

802437985.

Fa B @47 Co % ™0 204 > 1™y
802437986.

HEr"aEI':FI Cod4aT O5 %F = 7 1o, > 20’9
802437987.

Fa B, 74T O2 % 1T 204 > 11y
802437988.

Question Number : 23 Question Id : 802437248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



The pair in which both actinides show +3 oxidation state only is

Options :
802437989. Ac and Lr
Ac and No
802437990.
Cm and Bk
802437991.
Cm and Lr
802437992.

Question Number : 23 Question Id : 802437248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T Sad T UiFeATEs 99 +3 A Fen AaeIT w99 8, T8 ©

Options :

Ac @4t Lr
802437989.

Ac 74T No
802437990.

Cm 7471 Bk

802437991.



802437992. Cm T Lr

Question Number : 24 Question Id : 802437249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The complex(es) showing activity against cancerous cells is/are

0
o]
(@) D)J\ (b) % ““%5//"
HE'N"'?..—,.: ‘ \\:\Cl Cly, ‘ “\,‘CI
Pt H, Ru
H?Nf‘ \Cl Rusrenip 'C'f | \{m
0 Cl \\7 N
\[( H,N (’J
o HN
Options :
(a) only
802437993.
(a) and (b) only
802437994
(a) and (c) only
802437995.

(a), (b) and (c)
802437996,



Question Number : 24 Question Id : 802437249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

VA BT HAT & Wi AR dT ST JTeT/ard #5952/

O
O
(a) C}J\ ®) A [ (c) %‘5///
HEN{& ‘ ﬂ-.."f"\CI le.u"; ‘ \\\CI
=11 H Ru
HENI‘ \Cl HL{"'IHNE le' | \CJ
Cl
Yoo O
HN /
Q
Options :
9T (a)
802437993.
Fad (a) 74T (b)
802437994.
Fad (a) TAT(C)
802437995.
(a), (b) 4T (c)
802437996.

Question Number : 25 Question Id : 802437250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Consider the nuclear reaction

02X?* +B +a — Y+ y+ 2B°

Y is

Options :

g 2Y238
802437997.

91Y238
802437998.

93\(235
802437999.

as Y228

8024371000.

Question Number : 25 Question Id : 802437250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

EA T GraaT 97 == ST
02X +B +a — Y+ y+ 2B*

Y2
Options :

5 2Y238
802437997.



YESB
802437998. !
93\(235
802437999.
e
8024371000.

Question Number : 26 Question Id : 802437251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Correct statement/s among the following with respect to ionization
energy (IE) is/are

(i) (IEq1 + IE2 + |E3) for indium is more than that of aluminium
(ii) IE4 of scandium is higher than that of cobalt
(iii) IE1 of gallium is lower than that of selenium

(iv) IE1 of nitrogen is greater than that of oxygen

Options :

(ii) and (iv)
8024371001.

(iii) and (iv)
8024371002.

(i) and (iv)

8024371003.



(ii) and (iii)
8024371004.

Question Number : 26 Question Id : 802437251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AT et (IE) F e # ol & 7 7 799 872

(i) TegfeT==H & a94T a9 &if (IEq + |E2 + |E3) S8 2l
(ii) FraTes Y T STy 1 |E; 9w 2

(iii) FErete=re 7 srreT fiferas 7 |[Ey 77 2

(iv) ST FT ATAT ATS e 1 |Eq dAT4F 2

Options :
(i) 74T (iv)
8024371001.

(iii) 74T (iv)
8024371002.

(i) 74T (iv)
8024371003.

(ii) =T (i)
8024371004.



Question Number : 27 Question Id : 802437252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The reason for significantly high solubility of AgCIO4 in benzene
than in alkane solvents is

Options :
Alkane solvents are non- polar.
8024371005.

Benzene is an aprotic solvent.
8024371006.

PhAg is formed.
8024371007.

2024371008, Benzene acts as a soft base

Question Number : 27 Question Id : 802437252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AgCIQy, & Teee TEaTaet il AT §, Awa((F | (e al & a1 =7 &7
T=F ZIH FT HO0

Options :

Uoehe (ATa] T AT AT 2 |

8024371005.

AT & T AW (A =® g § |

8024371006.



PhAg #T f37=+ T 2|
8024371007.

o

St T TF ATFE o Hl 99 o AT F9AT 2

8024371008.

Question Number : 28 Question Id : 802437253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Correct statement for ‘Inductively Coupled Plasma Atomic
Emission Spectroscopy’ is

Options :
2024371009, It is unsuitable for all non-metals.

Simultaneous determination of only metals is possible.
8024371010.

Induction coil stabilizes plasma.
8024371011.

Oxide formation lowers atomization of metals.
8024371012.

Question Number : 28 Question Id : 802437253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Options :

Tt F-oTgeA F o 7g A3 TIET ©
8024371009.

T ATAT T 2 T A7 e §97 2 |
8024371010.

UT A TASHT A AT FAT 2 |

8024371011.

8024371012 (T2 T T=57= STl &, TEHIEAT | F979 il 57 FHeav 2 |

Question Number : 29 Question Id : 802437254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The number of geometrical isomers of the complex
[RAH(C=CR)2(PMe3)a] is

Options :
8024371013. -

3
8024371014.

4
8024371015.

1

8024371016.



Question Number : 29 Question Id : 802437254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

7% [RhH(CZCR)2(PMes)s] ¥ ST sroma=rat #i1 w7 &

Options :
8024371013.

3
8024371014.

4
8024371015.

1
8024371016.

Question Number : 30 Question Id : 802437255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



l2 is violet in the solid as well as in gas phase. However in acetone
or ethanol, it turns brown. Choose the correct statement(s) for this
colour change:

(a) Dissociation of |2 in atomic state

(b) Interaction of low-lying o*-orbital of iodine with lone pair of O
(solvent)

(c) Formation of a charge-transfer complex
Options :
(a) only

8024371017.

(b) only
8024371018.

(a) and (b) only
8024371019.

(b) and (c) only
8024371020.

Question Number : 30 Question Id : 802437255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



R o W

S TAT AT et F L T Tr &7 ZrT 21 UH RN aoaT A ®§
g L IR HN BT ATAT 2| T AT F [T At HAA/FHAAT T AT

(@) |z FT TTHTET dae47 § fa=e
(b) @I F ey o Fawi # O (=== & v v

-

T3 B e B

(c) HTHIM-FATHATALI THA T (=47

Options :

4 (a)
8024371017.

9 (b)
8024371018.

= (a) 747 (b)
8024371019.

Fa (b) 74T (¢)
8024371020.

Question Number : 31 Question Id : 802437256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The pair of compounds in which both members show LMCT band
in their electronic spectra is



Options :

[FeCls]* and [Fe(bpy)s]**

8024371021.

[FeBrs]* and [TcQ4]
8024371022.

[ReQ4] and [Ru(bpy)s]**
8024371023.

[Fe(phen)s)?* and [FeCly]*
8024371024.

Question Number : 31 Question Id : 802437256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AT T I3 (oA 21 TaeT Tz i® #9929 § LMCT 3+s =91 2,

Options :
2- a1 2+
8024371021 [FeCls]™ 74T [Fe(bpy)s]
[FeBra)> @47 [TcO4]
8024371022.

[ReQ4] 74T [Ru(bpy)s]**
8024371023.



[Fe(phen)s]?* 4T [FeCla]*
8024371024,

Question Number : 32 Question Id : 802437257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

During the binding of O2 to myoglobin (consider ‘heme’ in xy-plane),
the molecular orbital of O2 and atomic orbital of Fe involved in the
formation of the g-bond is

Options :

T and dz2
8024371025.

T and dxz
8024371026.

T and dy
8024371027.

T and d,2
8024371028.

Question Number : 32 Question Id : 802437257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



O2 F AT F% T4T Fe F TEH=1T FH&F ST, ATARATET (S19 FT
Xy~ # ATTHT) TAT O F HET ATaveT § TEATOIT ZTHT 0 A= TATH
EACEA

Options :

™ 497 dz2
8024371025.

" 497 dxz
8024371026.
8024371027.

T T4T d?
8024371028.

Question Number : 33 Question Id : 802437258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



The order of rate of substitution of chloride by pyridine (in ethanol)
in the following complexes

EtgF’,,, {‘m thP/ CI EtgP@ CI
Ni “ Pt
o GO O
I
is
Options :
[ =11 =1
8024371029.
[ =1l=1ll
8024371030.
| > 1l = Il
8024371031.
<1l =1l
8024371032.

Question Number : 33 Question Id : 802437258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



et d5a1 | FarTes F71 R & TaedmI (U997 9) 37 57
e

Et 3 P/-"; \\:G | Et? P.-‘}f \\\C’ I Et3 P//f! \Q\C I
i “Pd. =
G X
I I I11
Options :
| > 11> 1
8024371029.
I =11=1l
8024371030.
| > 11 =1l
8024371031.
| <1l =1
8024371032.
Sub-Section Number : 2
Sub-Section Id : 80243713
Question Shuffling Allowed : Yes

Question Number : 34 Question Id : 802437259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



The correct IUPAC name for the following molecule is

L
Y

Mf‘j
Options :

1-Propyl-2-ethyl-4,4-dimethylcyclohept-1-ene
8024371033. By Pt o p
8024371034, 2-Ethyl-4 4-dimethyl-1-propylcyclohept-1-ene

3-Ethyl-1,1-dimethyl-4-propylcyclohept-3-ene
8024371035.

1,1-Dimethyl-3-ethyl-4-propylcyclohept-3-ene
8024371036.

Question Number : 34 Question Id : 802437259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A terterT 3t #1 75 [UPAC 919 &

~5

Options :

1-TTaer-2-TT -4, 4-372 AeaEFae=-1-24

8024371033.



2-TTHA-4, 4-STEHTHA-1-TTAAATZFATE=-1-21

8024371034,
3-TFHaA-1,1-STeRTAA-4-TITT AT FA G =-3-21
8024371035
1, 1-STEHIIA-3-TTAA-4-TTIAATZFATS =-3-21
8024371036,

Question Number : 35 Question Id : 802437260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The stereochemical relationship of Ha and Hp in the following
molecule is

H, Hb

Options :

enantiotopic
8024371037.

homotopic
8024371038.



diastereotopic
8024371039.

constitutionally heterotopic
8024371040.

Question Number : 35 Question Id : 802437260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

etertaa 9o & Ha 747 Hp &7 Bfas wramates @99 2

OMe

_‘<I|' —
H, Hob

Options :

8024371037.

8024371038.

8024371039.

8024371040.



Question Number : 36 Question Id : 802437261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The correct order of stability of the carbocations A-C is

®
A B c
Options :
C>A>B
8024371041.
A>C>B
8024371042.
- =
8024371043. B>C>A
C>B>A
8024371044.

Question Number : 36 Question Id : 802437261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

FETEATAAT A-C & FavaT aT agr 9 &

® P
e T
A B c
Options :
C>A>B

8024371041.



A>C>B

8024371042,

B>C>A
8024371043,

C>B>A
8024371044,

Question Number : 37 Question Id : 802437262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The correct statement for the orientation of the bromine atoms in
the most stable conformations of A and B is

Jij_ Me Br
Me =

Br Me™
A B

Options :

2024371045, axial in both A and B

axial in A and equatorialin B
8024371046.

equatorial in both A and B
8024371047.



equatorial in A and axial in B
8024371048.

Question Number : 37 Question Id : 802437262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A TAT B F T4 B97 §=T07 § FIHET TEATIEA & AT 1a-79 & (o
TEl TAA 2

/(j—. Meo . Br
e Y
Me E: ME\]/\J

B

Br
A

Options :

A T4T B =97 | weft

8024371045.

A T e 797 B & a4t

8024371046.

A T4T B =191 & F&a94T

8024371047.

A H FeI94T 997 B § 9=

8024371048.

Question Number : 38 Question Id : 802437263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



The major product formed in the following reaction is

8]

HCIO,4
—

Options :

8024371049
8024371050
8024371051

C
[
C
C

8024371052



Question Number : 38 Question Id : 802437263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AT Jf AT § =T qeT 3778 2

O

HCIO,
_— W

Options :

8024371049.
<:/§

8024371050.
E:\j

8024371051.
(:/S

8024371052



Question Number : 39 Question Id : 802437264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The following carboxylic acids undergo decarboxylation upon
heating. The ease of decarboxylation is in the order

2., O, O

CO,H
H
B c
Options :

B>A>C
8024371053.

= =
8024371054. C>B>A

>C>B
8024371055,

C>A>B
8024371056.

Question Number : 39 Question Id : 802437264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



FReaferfara wrattafers =1 F7 AR a0 T4 F74 77 2047 2
AT AF 0 T qIHAT 71 F7 2

a,, O, O

CO;H COzH
H
A B c
Options :
> >

8024371053. B>A>C

C>B>A
8024371054.

A>C>B
8024371055.

C>A>B
8024371056.

Question Number : 40 Question Id : 802437265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The HOMO of m-molecular orbitals of methylazide is

Options :

8024371057.



8024371058.

8024371059.

8024371060.

Question Number : 40 Question Id : 802437265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T3 USTEE & m-Ava® FAawi § HOMO 2

Options :
8024371057.
B
g
8024371058.
0
8024371059.

8024371060.



Question Number : 41 Question Id : 802437266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The following transformation involves a series of
© "
8] N
N O —— || + CO;
O~y N
N L
Options :

electrocyclic ring-opening and closing reactions.
8024371061.

cycloaddition and cycloreversion reactions.
8024371062.

sigmatropic rearrangements.
8024371063.

cheletropic addition and elimination reactions.
8024371064.

Question Number : 41 Question Id : 802437266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



eATerag T § T5eTa ATH AT ] gaeT 2,

e
o i N
\[’f’\ﬁph * e ||b: + CO,
'D-uNr‘ M
-

Options :

TAFITATEFAF Fa°T T 97 Fa7or At |
8024371061.

ATZFATHFR AT TIT ATSFATTATIAT AT |
8024371062.

FErETZis e S |
8024371063

FTAZITaE FoheA= TAT T ATsnaT |
8024371064

Question Number : 42 Question Id : 802437267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The synthetic equivalent of the given synthon is
c=0

Options :

t-butyl isocyanide
8024371065.



t-butyl cyanide

8024371066.
t-butyl cyanate
8024371067
t-butyl isocyanate
8024371068.

Question Number : 42 Question Id : 802437267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

&7 ™ Aerm FT A= T 2
@
C=0
e
Options :
LI A AEATATAATES
8024371065.
8024371066.
L= ATz
8024371067.

LETET ATTATATAAE
8024371068.



Question Number : 43 Question Id : 802437268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The correct order of the pK; of the following compounds is

(/\\ |'I.T. ...:':I'.
A N N/
A B C
Options :
C>B>A
8024371069.
= =
8024371070. A>C £
B>A>C
8024371071.
A>B>C
8024371072.

Question Number : 43 Question Id : 802437268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

FefERE A FpaFTaT #HE
r/\\\ |'7ﬂ'|
A \ 7 Nt
A B [

Options :



8024371069.
A>C>B
8024371070.
B>A>C
8024371071.
A>B>C
8024371072.

Question Number : 44 Question Id : 802437269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Muscone is a

0
Muscone
Options :
terpenoid
8024371073.
8024371074, Sterelc
polyketide

8024371075.



8024371076. flavonoid

Question Number : 44 Question Id : 802437269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

HET g
O
Muscone
Options :
8024371073.
- ._u o
8024371074.
T i (3 Lt L]
8024371075.
q\i a-‘llillc.gE -
8024371076.

Question Number : 45 Question Id : 802437270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



The natural product that gives a signal at § 218 ppm in its °C
NMR spectrum is

Options :

a-pinene
8024371077.

camphor
8024371078.

geraniol
8024371079.

carvone
8024371080.

Question Number : 45 Question Id : 802437270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

¥+ 13C NMR #9529 § 5218 ppm 7% ST U a% o918 F=eT 397 2,

T e
Options :
8024371077.

8024371078.



R frat

8024371079.
8024371080.

Question Number : 46 Question Id : 802437271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The correct order of carbonyl stretching frequency for the given
compounds is

S

'

A B c

Options :

A>B>C
8024371081.

B>C>A
8024371082.

C>A>B
8024371083.

B>A>C
8024371084.

Question Number : 46 Question Id : 802437271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



& T ATt § A= &6 T AT F1 T80 7H 2

Peo )0

A B Cc
Options :
A>B>C
8024371081.
> >
8024371082. B>C>A
= =
8024371083. C>A>B
B>A>C
8024371084.
Sub-Section Number : 3
Sub-Section Id : 80243714
Question Shuffling Allowed : Yes

Question Number : 47 Question Id : 802437272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The expectation value of p? of a particle in a cubic box of side ¢,
having the wave function ;bnx’n}”nz (x,y,2) =

(2)3’{2 PO [ L ) o T | s j
; Sin ; 51n ; 511 7

Options :



17h?

2

8024371085, ¥

7h?

af
8024371086.

3h?

ZE
8024371087,

13h2
8024371088, ¥

Question Number : 47 Question Id : 802437272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TF TATES £ F IA T T T 75 FI7 TS0HT T Feld

: -_23-""2.271'1‘.3}'[_}".2?1'2%
‘f’nx,ny,nz (x,y,z) = 7 sm—f sm—f sm—f <

% p? T TATAT J19 3

Options :
17h?
xp
8024371085.
7h?
af’

8024371086.



8024371087, ©
13h2
8024371088, ¥

Question Number : 48 Question Id : 802437273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

For the d3 electron configuration, the ground state term symbol is

Options :

8024371089.

8024371090.

8024371091.

8024371092.

Question Number : 48 Question Id : 802437273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



o
L

o, FRea e &7 9% WA 2

=
]
il
Al
i
:"'—c
u |
ap
4
fan
q*:

8024371089.

8024371090.
8024371091.

8024371092.

Question Number : 49 Question Id : 802437274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The total bond order between adjacent carbon atoms of benzene
is

Options :

0.5
8024371093.

8024371094.



1.5
8024371095,

8024371096. 2.5

Question Number : 49 Question Id : 802437274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AV o S g1 A TIHTIAT & HET T AT FH 2

Options :

0.5
8024371093.

2
8024371094.

1.5
8024371095.
8024371096. 2.5

Question Number : 50 Question Id : 802437275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



The following is the character table for the C,, point group

G | E G | o g
A, 1 1 1
A |1 =E
B, |1 1 |1 1
B, |1 94 (<1 |4

There are two functions f; and f, belonging to 4, and B,
representations, respectively. The correct option for the product
of two functions f, and f, and the integral [ f,f.dt is

Options :

8024371097.

8024371098.

8024371099.

8024371100.

The product belongs to 4, representation and the integral is
nonzero.

The product belongs to B, representation and the integral is
zero.

The product belongs to A4, representation and the integral is
zero.

The product belongs to B, representation and the integral is
nonzero



Question Number : 50 Question Id : 802437275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

¢, Ttz 7 At wferersor Aoft frefertr &

| B & | ‘o |0
Ay |1 1 1
As | 1 i |4
B; |1 -1 |1 -1
B, |1 3 |1 |

& HAA f, TAT f, FEA. A, T4T B, =701 | G414 2| T4 FaAsl f;
TAT f, % IeATE TAT THEH AT [ f, fodr & 0 3= =Fe7T g

Options :

ITITE FT A, RE=T0r 7 599 § TAT THIH T HIH 2 |
8024371097.

STITE FT B, H=T07 7 T&e g TAT THH T T 2 |

8024371098.

TEITE &1 A, H=T0 & 798 § TAT Tq1w T 6 2 |

8024371099.

ST =T B,y SRkl ﬁﬁ?ﬂ%ﬁgﬂ AHTH AU %‘ I
8024371100.



Question Number : 51 Question Id : 802437276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The equilibrium dissociation energy of a diatomic molecule is 4.75
eV and its stretching frequency corresponds to 0.5 eV. The
minimum energy required to dissociate the molecule in eV is

Options :
8024371101. 4.75

4.25
8024371102.

4.50
8024371103.

5.00
8024371104

Question Number : 51 Question Id : 802437276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

v BRI A i A A S 4.75 eV g 7 TEE 9 A
0.5 eV & dq=T 2| A % =T & 7T = a9 d1997% SoieVHZ

Options :

4.75
8024371101.

8024371102. +29



8024371103.

8024371104. .00

Question Number : 52 Question Id : 802437277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A monatomic perfect gas undergoes expansion from (p,, V;) to
(p,,V>) under isothermal or adiabatic conditions. The pressure of
the gas will fall more rapidly under adiabatic conditions because

Options :
1
=
8024371105.
1
P V7/s
8024371106.
1
P ve/2
8024371107.
4
P x 3/3
8024371108.

Question Number : 52 Question Id : 802437277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0.5
THTEHTIE AR AT (py, Vy) 7 (py, V,) TF THATHT AT F5CH FF€4T H

THT FEAT £ | FEISH ATEAT H 19 F 719 § et 7 afe 7 ferae ardy

Options :
o 1

3 v
8024371105.

P« V7/s
8024371106.

1

P va/z
8024371107.

P 5/3
8024371108.

Question Number : 53 Question Id : 802437278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

For the reaction N,(g)+ 3H,(g) — 2NH;(g), the thermodynamic
guantity which  depends upon the pressure at which equilibrium
is arrived at is (superscript ‘o'represents standard state)

Options :



AG®°

8024371109.
AH®
8024371110.
Kp
8024371111,
ratio of mole fractions, ———, at equilibrium
xNZtz
8024371112.

Question Number : 53 Question Id : 802437278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

ATHRAT N, (g) + 3Hz(g) — 2NH;(g) F o SeAmia Thier 91 59 &
o7 47 FAT £ 9 97 90 9T g 8, 9% 2 (I RE= ‘0 ’IEE
FAEAT FT TATAT 2)
Options :
GO
8024371109.
HG
8024371110.
Kp

8024371111.



2
- . " xNH
AT T HIT AL /T A9 ———

8024371112.

Question Number : 54 Question Id : 802437279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The E°(M™ /M) of the cell, SHE||[MX|M can be obtained from the
plot of (E..;; is the cell potential and m is the molality of ideal dilute
solution of MX)

Options :
E..; against (T logm)
8024371113.
. 1
E..; against (Flngm)
8024371114.
E..;p against (Tvm)
8024371115.
. Vm
E..;; against (?)
8024371116.

Question Number : 54 Question Id : 802437279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



F SHE||MX|M ¥ E°(M*/M) F¥ 9TF %7 &% & Aad (., T F1

9= 2 4T m, MX & 99 A597 [=Haa+ & Jiaaar 2)

Options :
EEE“ a’T iaiiﬁ (T ng m) ﬁ-
8024371113.
1
E.; % fEes (;lngm) T
8024371114.
Ecen ® @55 (TVm)®
8024371115.
[m
Eer ¥ 875 ()4
8024371116.

Question Number : 55 Question Id : 802437280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The y-intercept obtained from the plot of viscosity of a series of
polymer solutions against the concentration is 0.05. The
proportionality constant K and exponent a for this
polymer — solvent pair are 5 x 10™° and 0.5, respectively. The
molar mass of the polymer in g molis

Options :



10?

8024371117.
5
8024371118. 10
10°
8024371119.
7
8024371120. L

Question Number : 55 Question Id : 802437280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

JgA® ATl H UF AT & (00 9FTaT 9T AT5al & HeT AT F7
y-&@: @€ 0.05 2| T Fgam-fAarm® T & o argmias Faeis K
TAT TETH a FAM: 5 1075 47 0.5 F1 Fga* H7 g mol! § Hraw
Options :
10°

8024371117.

10°
8024371118.

6
8024371119.



107
8024371120.

Question Number : 56 Question Id : 802437281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In the ccp packing, the number of lattice points per unit area in the
planes is in the order

Options :

(100):}(110):r(111)
8024371121. '

(100) = (111) = (110)
8024371122.

(111) = (100) = (110)
8024371123.

(111) = (110) = (100)
8024371124,

Question Number : 56 Question Id : 802437281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

-

STer Taegdr 1 T2 Ui U 97, cop Agaq & aai ®, Sawm g

EEE

fall

¥ 3

Options :



(100) > (110) > (111)

8024371121.

(100) > (111) > (110)
8024371122.

(111) > (100) > (110)
8024371123.

(111) > (110) > (100)
8024371124.

Question Number : 57 Question Id : 802437282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The correct statement about chemisorption is

Options :

Chemisorption results in multi molecular layer adsorption.
8024371125.

Chemisorption is reversible in nature.
8024371126.

Chemisorption has lower specificity than physisorption.
8024371127.

Chemisorption occurs due to formation of chemical bonds.
8024371128.



Question Number : 57 Question Id : 802437282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TTETA A AErerraor % o 'g v AT g

Options :

TTAETATA S AT | SATE9raor iF 7 Ao T7d Soa= gral ol

8024371125.
TTATATE AT EHHIT TH o FT a7 2|
8024371126. :
T AT FF S 9eT TrETEAE AtErerror # FAforeaT =
gt 2l
8024371127.
TTETA A AT & (7= & T A® Ao IoTw 21av 2|
8024371128. :

Question Number : 58 Question Id : 802437283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

For a reaction, raising the temperature from 200 K to 300 K results
in the increase of rate constant by a factor of 2. The activation
energy for this reaction in kJ mol™ is closest to

(In2 = 0.69)

Options :



7.0

8024371129.

3.5
8024371130.

14.0
8024371131.

0.83
8024371132

Question Number : 58 Question Id : 802437283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TF ATIRAT &7 777 200 K & 300 K % 9719 77 A& &7 H997% 2 &
T | qE AT 21 kd mol! F =7 AfSnar &7 T Su foaE HEean

(In2 = 0.69)

Options :

7.0
8024371129.

3.5
8024371130.

14.0
8024371131.



8024371132. 0.89

Question Number : 59 Question Id : 802437284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The y — intercept of the least square fitted straight line to the data
in the table is closest to

X (=21 (0588 |1.671 1.88

y |—-4.01 |—1.98 |2.01|3.99

Options :

—-0.2
8024371133.

- 0.1
8024371134.

0
8024371135.
8024371136. 0.2

Question Number : 59 Question Id : 802437284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



ArrersT | & 77 Aimet i ~gAas J97 =t 7 o w5 97w Jvedt
T FT y — da: g omw Rweaw g, 785 2

X —2081 —0.88 1.01]1.99

y |—4.01 |—1.98 2.01 | 3.99

Options :
8024371133. -02
- 0.1
8024371134.
0
8024371135.
0.2
8024371136.

Question Number : 60 Question Id : 802437285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The guest molecule which will fit best inside a-cyclodextrin by
interacting with both, rim and cavity, is

Options :



8024371137.

H4C CH,
i CHj GHEH3
8024371138.
OH
HO
| == T<CH:]
CH
CHj °
8024371139.
®
Ee HNZ “N-CHs
\—/
8024371140.

Question Number : 60 Question Id : 802437285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

a-TATTFATSHFALA & Ava7 77 TAT FIZ7 T T A-ATAHAT T2 SOH
T FATH FO AT =T 7 e 2T, T2 2

Options :




N AN Y
8024371137, o
H H
i CHj CHE 4
8024371138.
OH
HO LR
| e \]<CHE
CH:
CH; °
8024371139.
@
Brﬁ%} HNZ “N-CHs
\—/
8024371140.
Part C Chemical Sciences
Section Id : 8024379
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60

Number of Questions to be attempted : 25



Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 80243715
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 802437286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Among the following complexes, the one showing the highest rate
of substitution of a CO ligand on heating with one equivalent of
PPhs in decalin, is
Options :
(n°-CsHs)Mn(CO);
8024371141.

(n°-CsPhs)Mn(CO)3
8024371142.

(n°-CsMes)Mn(CO)s
8024371143

(n’-indenyl)Mn(CO)3
8024371144.

Question Number : 61 Question Id : 802437286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



freafefera @gat & F ST v 27 PPhs % @17 SH1f & T %74
T CO wieaTT= f o mAfAw g 3, TR E

Options :

8024371141, (n>-CsHs)Mn(CO)s

(n°-CsPhs)Mn(CO);
8024371142.

(m°-CsMes)Mn(CO);
8024371143.

(n°-indeny])Mn(CO);
8024371144,

Question Number : 62 Question Id : 802437287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct electronic configuration of frontier MO's of
Mn(n’-CsMes), is
Options :
Ezzg allg Ellg

8024371145.

E4zg allg
8024371146.



3 2
8024371147.

g
d71g eaig

8024371148.

Question Number : 62 Question Id : 802437287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Mn(n >-CsMes), F HTHTT MO’s FT TAZT TAFLIT (a7ATH 3

Options :
.

Ezlg allg g

8024371145.
4 1

Cogd g
8024371146.

'Ejzg ajlg
8024371147.

ﬂllg eajg
8024371148.

Question Number : 63 Question Id : 802437288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



On heating [Mo(Nz2)2(PMe2Ph)s4] and [ReCl(Nz2)(PMe2Ph)4], the
products formed are respectively

Options :
[(n°-PhPMe2)Mo(PMe2Ph)3] and

E-
8024371149 [(n°*-PhPMe2)Re(PMe2Ph)sCl

[((PMe2Ph)sMo(u-N2)2Mo(PMe2Ph)s] and

[(PMe2Ph)sRe(p-Cl)2Re(PMezPh)4]
8024371150.

[(n®-PhPMe;s)Mo(PMesPh)s] and

[(PMe2Ph)sRe(p-Cl)2Re(PMe2Ph)4]
8024371151.

[(PMe2Ph)sMo(pu-N2)2Mo(PMe2Ph)4] and

[(n®-PhPMe2)Re(PMe2Ph);]Cl
8024371152.

Question Number : 63 Question Id : 802437288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

| e T e

[Mo(N2)2(PMe2Ph)s] 4T [ReCI(N2)(PMe2Ph)s] FT T 7= 97 ==

2T AT OIS 8, HHT:

Options :



[(n®-PhPMe2)Mo(PMe;Ph)s] F4T
[(n°-PhPMe2)Re(PMe2zPh)s]Cl

8024371149.
[(PMezPh)sMo(u-Nz)2Mo(PMe2Ph)] 74T

8024371150. [(PMezPh)sRe(u-Cl)2Re(PMezPh)4]

[(n°-PhPMe2)Mo(PMe2Ph)s] 7T

sopazrirs LW Me2Ph)Re(u-ClRe(PMeaPh)]

[(PMe2Ph)sMo(u-Nz)oMo(PMezPh).] Tt

6.
8024371152. [(n®*-PhPMe2)Re(PMezPh)s|Cl

Question Number : 64 Question Id : 802437289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The products A and B for the given reaction
[Co(NH3)sCI]** + [Cr(OH2)g]** + 5Ha0* — A + B
are, respectively

Options :

Co(OH-»)sCIT, [Cr(OH I+
8024371153 [Co(OH2)sCIT", [Cr(OH2)e]



[Co(NH3)s(OH2)]**, [Cr(OH2)sClJ?*
8024371154

Co(OH2)sl%*. [Cr(OH2)sCIT**
8024371155, [Co(OH2)e]™, [Cr(OH2)sCl]

[Co(NH3)sCI]*, [Cr(OH2)s]**
8024371156.

Question Number : 64 Question Id : 802437289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

&t v af¥rfaT % see A 747 B, #ET:

[Co(NH3)sCI]2* + [Cr(OH2)e]2* + 5H:0* — A + B

Options :

[Co(OH2)sCIT, [CF(OH2)5]3+
8024371153.

[Co(NH3)s(OH2)]**, [Cr(OHz2)sClJ%*
8024371154.

[Co(OH2)s]?*, [Cr(OH2)sCI]?*
8024371155.

[Co(NH3)sCIl*, [Cr(OH2)e]**
8024371156.



Question Number : 65 Question Id : 802437290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The calculated heat of formation (AHr) for NaCl2 and CaF is

Options :

negative for both NaClz2 and CaF
8024371157.

negative for NaClz but positive for CaF
8024371158.

positive for NaCl> but negative for CaF
8024371159.

positive for both NaCl> and CaF
8024371160.

Question Number : 65 Question Id : 802437290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

NaCly 74T CaF & 9vaford f=ae=+ SoAT (AHf) &

Options :

=A% NaCl, 797 CaF =1=1 & &7
8024371157.

Foreas NaCly F T 597 a91e9% CaF & ™
8024371158.



g T NaClz F form F97 =|orew= CaF ¥ form
8024371159.

917 F NaCl, 9T CaF =1 & ™7
8024371160.

Question Number : 66 Question Id : 802437291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

As per the VSEPR theory, shapes of SO3%", CO3? and BrFs~ are,
respectively

Options :

trigonal pyramidal, trigonal planar and tetrahedral
8024371161,

trigonal planar, trigonal pyramidal and square planar
8024371162,

trigonal pyramidal, trigonal planar and square planar
8024371163.

trigonal planar, trigonal pyramidal and tetrahedral
8024371164

Question Number : 66 Question Id : 802437291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



VSEPR fH&Ta & ST SO32-, COs2- TAT BrF,~ &1 ArFfaar g, 79T

Options :

Braaaarer ST, BEwaars auad’ 997 TPEhaE

8024371161.

PHAATE THAAT, BraEaare O st 97 39 a9t
8024371162

Craaaarer TS, BAEaaTes auadt 99T 99 a9t
8024371163

BPrasaare aHad !, Beaaaars RS 97 I
8024371164,

Question Number : 67 Question Id : 802437292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the following statements for Allred-Rochow
electronegativity (yar):

(1)  yar1s directly proportional to Zes.

(11)  yar 1s inversely proportional to Z.s.

(i11)  yar 1s inversely proportional to r(covalent).
(iv)  yar is inversely proportional to r’(covalent) .

The correct statements are



Options :

(1) and (1v)
8024371165.

(11) and (1v)

8024371166.

(1) and (111)
8024371167.

(11) and (111)
8024371168.

Question Number : 67 Question Id : 802437292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

greve el B moreREar (ur) F o Featas st 1 fEe
EarE

(1)  yag AT FARTTITAT T Zeg )

(i)  yar FAFATIITAT & Zegr T

(i)  yar EFATIATAT 2 1 (TEHAATSF) |

(iv)  yar SAFHATIITET 2 1° (AZAIATT) |
el 49 2

Options :



(i) 4T (iv)
8024371165.

(ii) 74T (iv)
8024371166.

(i) =4 (i)
8024371167.

(i) 4T (iii)
8024371168.

Question Number : 68 Question Id : 802437293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The reaction of XeFs with a limited amount of quartz gives
compound A. Then on reaction with an equivalent amount of XeO3
A gives B. The products A and B are, respectively

Options :

XeOF2 and XeQaF2
8024371169.

XeOF;4 and XeOsF»>
8024371170.

XeOFs> and XeOF4
8024371171.

sona371172.  "€O2F2@nd XeOF4



Question Number : 68 Question Id : 802437293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

XeFg #T 7hfz £7 #fifoaT grm=r 7 gt v 3 A 3957 31 F719917
X303ﬁﬂ_r~1 qT=T A 7 ATIERAT FF B;’:'HQI'E" AH“JJTB%:, T

Options :

XeQOF> 74971 XeQsF»s
8024371169.

XeQF,4 991 XeOsF>5
8024371170.

XeOF2 91 XeOF4
8024371171.

XeQaF2 79T XeOF4
8024371172.

Question Number : 69 Question Id : 802437294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The energies of interaction for (i) ion pair, (ii) ion-dipole, and (iii)
dipole-dipole interactions are inversely proportional to
Options :

r, 2 and r® respectively
8024371173.



r?, r and r° respectively

8024371174,

r, r> and r® respectively
8024371175,

r?, r and r° respectively
8024371176.

Question Number : 69 Question Id : 802437294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(i) 99 TH F LT AAEAAT (i) A=-FaT 74w (i) Fy-Fam

-

A= I irb\'il._l_i ot SR HTTATA T, FHHI

Options :
rr2agrr s
8024371173.

2 raqarr s
8024371174,

r, r2 47 6 &
8024371175.

r2, r T9T r6 %
8024371176.



Question Number : 70 Question Id : 802437295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct match for column A with column B is:

Column A Column B
(a) f - f transition (i) Tb*
(b) °Dp = "Fp emission (i) Lu®*
(
(

(¢) °Ds — "Fn emission i) Sm¥

(d) Overlapping J levels iv) Eu®
Options :
(@) = (iv), (b)=(i), (c)=(ii), (d)— (iii)
8024371177.
@) = (i), (b)=(iv), (c)—(iii), (d)—(i)
8024371178.
(@) = (i), (b)—=(iv), (c)—(i), (d)— (iii)
8024371179.
(@)= (i), (b)—(iii), (c)—(ii), (d)—(iv)
8024371180.

Question Number : 70 Question Id : 802437295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



FIAT A TT FIaH B FT 75 Wa 2

Fiad A Fiaq B
(@) f-e fowaT (i) Th3*
(b) 5Do — 7Fn TS (i) Lu3*
(c) 5D4 — 7Fp Sereie (iii) Sm3*
(d) J TAET FT ATT=ATIA (iv) Eud*
Options :
024371177 (@) = (iv), (b)—=(i), (c)—(ii), (d)— (iii)
(@) — (i), (b) =(iv), (c)—(iii), (d)- (i)
8024371178.
(@) — (i), (b)=(iv), (c)—(i), (d)— (iii)
8024371179.
(@) — (i), (b)—(iii), (c)=(ii), (d)—(iv)
8024371180.

Question Number : 71 Question Id : 802437296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Thermometric titration gives best results when
A. IAHI is high

B. AG<0

C. Heat of mixing of titrant with titrand is high
D. Titrant is used as dilute solution

The answer is

Options :

8024371181. HEnaB

B and C
8024371182.

8024371183. CandD

8024371184. Aand D

Question Number : 71 Question Id : 802437296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



AT ST HTTT A ea s IO 34T 8, 99

|AH| 359 BT

AG <0

TTTare TAT T2 &1 HAT F74 FT FTAT 357 21

= [ . —
A2 are T aq (9 dd T AT ST

3'!-30!33'.}

Options :
802437118]1. ATTTB

Baar C
8024371182.

Ca=arD
8024371183

8024371184. ATaTD

Question Number : 72 Question Id : 802437297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The geometry/shape of the Fey4 core of the cluster [FesC(CO)12)* is
Options :

tetrahedron
8024371185.



square pyramid

8024371186.

butterfly
8024371187.

trigonal bipyramid
8024371188.

Question Number : 72 Question Id : 802437297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[Fe4C(CO)12]2- H Fey I il SATHIA/ATH(T 3

Options :
8024371185.
8024371186. ERAEREE
8024371187.

Eragaaryy Ffaes
8024371188.

Question Number : 73 Question Id : 802437298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The product A of the following reaction

; conc. H,850,

Fe > A
is
Options :
-l Nl
""--..._‘__H‘H
H
Fe

8024371189.
i g a4
‘-HH'""--.
H
Fe
H
L el |
H

8024371190.



B @

=

Fe—H

8024371191.

<
o

8024371192.

Question Number : 73 Question Id : 802437298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Afotag afSFaT F T ST A S

conc. HES{'}Q-
Fe > A

Options :



8024371189.
-\-\-\-\-H"‘-\-\_
Fe
L ]
8024371190.
Fe—H

8024371191.

L

i

2+



- - ®

~

Fe

&~

8024371192.

Question Number : 74 Question Id : 802437299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The number of peaks with relative intensities observed in the 'H
NMR spectra of [(Cp)2Fe(CO)2] at +30 °C and —80 °C in diethyl
ether are, respectively

Options :

§024371103, two peaks (1:1) and four peaks (5:2:2:1)

one peak and two peaks (1:1)
8024371194

two peaks (1:1) at both the temperatures
8024371195.

one peak and four peaks (5:2:2:1)
8024371196.



Question Number : 74 Question Id : 802437299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[(Cp)2Fe(C0),] & +30 °C 4T —80 °C 17 sT2uid« =47 # 'H NMR
Tt F gfera foraet & Jear arrer fimar F Ay g, w9

Options :

=T 9 (1:1) 797 91 formav (5:2:2:1)
8024371193.

T TorET 4T =7 9T (1:1)
8024371194.

=7 19 (1:1) T4 9197 97
8024371195.

% foraw 7T =17 fomw (5:2:2:1)
8024371196.

Question Number : 75 Question Id : 802437300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The infrared (IR) spectrum of the product A for the following reaction
Pha
", *P‘j OE
/\/ o

shows three STRONG bands at 1986 , 1935 and 1601 cm™. The
correct structure of ‘A’ is

Options :

8024371197.

8024371198.



8024371199.

u.'|"l'~'ll'l‘l co

Ir-
™ | o

PPha

8024371200.

Question Number : 75 Question Id : 802437300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



efertas afshraT & Soms A &7 o9 (IR) ¥9F2H

P
[ oc h2

| R e CO(g)
I ] = A
r.”f S \‘.:-f“"’J

f) Fha

19 woer 3= 1986 , 1935 4T 1601 cm-! 7% T9rmar g1 ‘A’ & 7gr
qEAT S

Options :
CO  Ph,
DG% “&P
Ir:" ::::]
|
co Phy
8024371197.
0 CO  Ph;
“\-‘__\P
Ir;\ j
|
Co Phy

8024371198.



8024371199.

u'|'ll'~'ll'l" CO

Ire,
e e

PPha

8024371200.

Question Number : 76 Question Id : 802437301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The number of expected electronic transitions in [Cr(en)s]** and
trans-[Cr(en).F2]* at 4 K is, respectively (en = ethylenediamine)

Options :

3and 3

8024371201.

3 and 4

8024371202.



3 and 5

8024371203.

3and 6

8024371204.

Question Number : 76 Question Id : 802437301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

-

4 K 9% [Cr(en)a]3* 9T frans-[Cr(en)2F2]* & Teamiorg so=zi=+

| o, O 2 A

THRAIT T WEAT g, FAA: (en = T HSTgUHI)

Options :
so24371201, T 3

3TqT14
8024371202.

)

s024371203, S A9
s024371204, S 1 6

Question Number : 77 Question Id : 802437302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The value of magnetic moment will be independent of temperature
for

(acac = acetylacetonato; OAc = acetate; o-phen = o-phenathroline;
Pz = pyrazolyl)

Options :

Fe(acac
8024371205. IFe )3]

[Cuz(OACc)4(H20)7]

8024371206.

[Fe(o-phen)2)(NCS)2]

8024371207.

[Fe{HC(3,5-Me2Pz)3}s]2*

8024371208.

Question Number : 77 Question Id : 802437302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(acac = THITEAUATEA2T; OAc = THTZZ; o phen = o-TRA AT,

Pz = TTZioarzd)

Options :



[Fe(acac);]

8024371205.
[Cu2(OAc)s(H20)4]
8024371206
[Fe(o-phen)2)(NCS)2]
8024371207.

[Fe{HC(3,5-Me2Pz)3}2]2*

8024371208.

Question Number : 78 Question Id : 802437303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Choose the correct statements for the Group 15 halides:

(i)  AsCls can form complexes of type [AsCls]™ in the presence of
a chloride source

(i) PFsacts as a strong o—donor ligand towards d-metals
(i) In the solid state, SbFs has a trigonal bipyramidal structure

(iv) The reaction of SbFs with anhydrous HF generates [HoF]*
ions
Options :

(i) and (iv)
8024371209.



(i), (iii) and (iv)

8024371210,
N (i) and (i
8024371211 () (iyand (%)
(i) and (iii)
8024371212.

Question Number : 78 Question Id : 802437303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T 15 F SATEST & (o107 TET FA9 A

(i) FARTSE % TATT HT ITEATT § [AsCl,] THIT FT TFA AsCl,

e, S e
Fref=a % 74T 2|

(i) PF3 & Y& o—3TaT e &7 ®1F d-aTqel & Iid F9aT 2|

i) 3 @=eaT § SbFs #1 o7=+T Bagaarer BTast 21
%

(iv) SbFs#t fster HF & i3 [HoF]* @ra=t #1 3o 7T 21
Options :

(1) 74T (1v)
8024371209,



(1), (i) 72T (iv)

8024371210,
i) TAT(iv
8024371211. (), (i) )
(1) =T (i)
8024371212.

Question Number : 79 Question Id : 802437304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In the catalytic cycle of Cytochrome P4350, the generation of
[(porphyrin)*Fe'V(0O)] from [(porphyrin)Fe'(OOH)] involves
Options :

One electron oxidation of [(porphyrin)Fe'(OOH)]

8024371213.

Formation of the intermediate [(porphyrin)Fe!V(OH)]

8024371214.

Homolytic O-O cleavage of [(porphyrin)Fe'V(OOH)]

8024371215.

Heterolytic O-O cleavage of [(porphyrin)Fe'(OOH)]

8024371216.



Question Number : 79 Question Id : 802437304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TTEarwiT P450 F Iaesht 9% ¥ [(porphyrin)Fe'(OOH)] &

[(porphyrin)FeV(0)] TeT= gr  wftmfora &

Options :

8024371213.

Teaaat [(porphyrin)FelV(OH)] #T fAv==

8024371214.

[(porphyrin)FelV(OOH)] 1 O—0 #rHier fH=em

8024371215.

[(porphyrin)Fell(OOH)] &1 O-0 =Euater FHee

8024371216.

Question Number : 80 Question Id : 802437305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



In the following sequence of reactions the correct P, Q and R are

respectively

5 SO“C[ dlIFEC13 Q
in dil. AcOH ﬂm“m"‘ Nﬁgasﬁ' Souten T ™ blood red
dil. HegCl,
soln.
R
Colourless
Options :
KNO,, CO5, [Fe(H20)sS]*, HgS
8024371217.
KNO2, Na, [Fe(H20)s(SCN)]2+, [Hg(SCN)a4]2~
8024371218.
KNOs3, N2, [Fe(H20)s(CN)]2*, [Hg(OCN)4]¢
8024371219.
NaNs, N2, [Fe(H20)5(N3)]2*, [Hg(Ns)4]2-
8024371220.

Question Number : 80 Question Id : 802437305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Merfoes afatra F 77§ P, Q9T R 8, F#9T:

B solid * ‘ dil. FeCly o
in dil. AOH > Nz gasT+ Solution — ™ blood red
Mourca soln.
dil. HgCl,
soln.
R
Colourless
Options :
KNO2, CO», [Fe(H20)sS]*, HgS
8024371217.
KNO2, Na, [Fe(H20)s(SCN)J2+, [Hg(SCN)4]2-
8024371218.
KNO3, N2, [Fe(H20)s5(CN)]12*, [Hg(OCN)4]2
80243712109.
NaNs, N2, [Fe(H20)s(N3)]2*, [Hg(N3)a]>
8024371220.
Sub-Section Number : 2
Sub-Section Id : 80243716
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 802437306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The major product formed in the following reaction is

Options :
o
e
H/\\)J?
0 —K
8024371221.
/ESD
NN
8024371222.
w
O
8024371223.
/5}
8024371224,



Question Number : 81 Question Id : 802437306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AeTertas JtseaT | Ae=a T d.—qqg‘%’_

8]
NaCEt
S LR

Options :
s
o i
8024371221.
E ;D
e
8024371222.
W
0
8024371223.

8024371224.



Question Number : 82 Question Id : 802437307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In the following transformation, the enantiomerically pure lactone A
provides

A0 MEGECK?,COEME ® .09
3 = MNa
\ % 0 > g
~— cat. Pd(PPh;),
A Me0O,C~ ~CO-Me

B
Options :

equimolar amounts of syn- and anti-diastereomers of B, both
of which are racemic

8024371225,
equimolar amounts of syn- and anti-diastereomers of B, both
of which are enantiomerically pure

8024371226.
only syn-diastereomer of B, which is racemic

8024371227.
only anti-diastereomer of B, which is enantiomerically pure

8024371228.

Question Number : 82 Question Id : 802437307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



=t =0T § T =7 7 95 dF2T ATaT 2

MeO,C._ .CO.Me @ J_e

{,-’_;.NT;-D ‘:3;’ Na
I r o

.'_"-
=
3&9

e cat. Pd(PPhs),
A Me0,C~ “CO,Me
B

Options :
B & syn-TAT gnicaaatasT By aam=a=T4a7 #if a9-J17 J713T,
S i T A

8024371225.
B F syn-TAT ant-FITa==T By THETE0 #7 T9-277 JT37
1 Fr P = & g 2T &

8024371226.
B T #da syn- AUTatasl (H=q THTETT AT 9T 5

8024371227.
B &1 F9a syn- AWTATSET By THTETS A7 UATe2arg T =97 9
T5 T

8024371228. '

Question Number : 83 Question Id : 802437308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The major product formed in the following transformation is

MesSi O
FEC|3

Options :

8024371229.

8024371230.

8024371231.

8024371232.



Question Number : 83 Question Id : 802437308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o s s AT g oo 2

M EaSi 0O
FEC|3
Options :
8]
P
IIIIII/::;_ JIII'--’
8024371229.

8024371230.

8024371231.



8024371232.

Question Number : 84 Question Id : 802437309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In the given transformation, the intermediate [A] and the major
product B are

PRCHO + N,CHCO,Et —S%u o] = B
2 equiv
Options :
A = Ph_-0._COEt B= ph— I
S O
Ph
8024371233.
0
e j\/ g PR O
= CO,Et =
FPh o 0
Ph
8024371234.
CO,Et

¢

0
@
A = Ph__O__CO,El B = Ph‘Sj:,/

8024371235.



Ph 0

[}
o

0
A = B
CO,EL
Ph’u‘w” : FtO,C  Ph
8024371236.

Question Number : 84 Question Id : 802437309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

et =1 § 7egadi [A] T4 727 3eE B £

CuCl
PhCHO + N,CHCO,Et ——~ » J[A] —» B
2 equiv
Options :
@ 0. COEt
A= Ph__O__COEt B-= ph I
© O™ >pp
8024371233.
@]
A i B . &
- 0, Et =
Ph’ﬂ“vfc ? 0
Ph
8024371234.
CO,Et

8024371235.



o Ph (0]
A = B _j>—4€
E
Ph)J\/cr::-z t cioid b

8024371236.

Question Number : 85 Question Id : 802437310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major products A and B formed in the following
transformations are

0
4/_2—0& NaH
Rtarice ™ A
H.N CH,
0
OEt  NaH
— B
HS CH,
Options :
0
<%‘DEt
B =
S
8024371237,

O
OEt
A=
M
H
o
OEt
A =
N
H

8024371238.



8024371239.

b -
I
Iz;\
O
m
I
(.
o
m

8024371240.

Question Number : 85 Question Id : 802437310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AT =aeor J @ 2 3es A 97 B

o

/_24::51 NaH
—_— A
H:N—'  CH,
0
OBt NaH
—» B
HS CH,
Options :
Q 0
A = B =
N
H S

8024371237.



OEt
A = B =
S o

N
H
8024371238.
A = P AL B = {
8024371239.
O
Fi A_))H}Et
A = B =
N O
H S
8024371240.

Question Number : 86 Question Id : 802437311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major product formed in the following reaction is

Ph
HO
Sl
—
NH CSA
CHPh,

CSA = camphorsulfonic acid

Options :



8024371241,
[ Ph
C I
CHPh;
8024371242,

8024371243.

8024371244.

Question Number : 86 Question Id : 802437311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



o st s AT ger oeme 2

Ph
HO
3 CH,0O
rr“_' CSA
CHPh,
CSA = camphorsulfonic acid
Options :
F:I
¢
CHPh,
8024371241.
O
/[ Ph
R
—~"N
CHPh,
8024371242.
FPh
e
N
CHPh;

8024371243.



Fh
O
S gt
[xwxﬁxwxj
CHPh,
8024371244,

Question Number : 87 Question Id : 802437312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major product formed in the following reaction sequence is

| e OAOME 4 LBuLL ELD, 278 c_
e 2. ICH,CHjl
Options :
|
=N 0. _-OMe
| ~
8024371245. N
|
ﬁ:_‘j,DVDME
|
N.ﬂ"'
8024371246.

8024371247.



2.
M |

8024371248.

Question Number : 87 Question Id : 802437312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

movom 1. t-BuLi, Et,0, -78 °C
o
N 2. ICH,CHo,l

Options
I
O~ -OMe
2
8024371245.
I
S 0._-OMe
N..-v"
8024371246.
| = 0. _-OMe
fo' fﬁxl

8024371247.



C._ _.OMe

8024371248.

Question Number : 88 Question Id : 802437313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The structure of A in the following reaction is

1. (i) hv
(ii) O3, Me,S 0 0
A :
2. NaOEt, EtOH O
Options :
O
/,.f;/ﬁ“DJL‘H’f"’?
8024371249.
0
#?,:’/\GJJ\J’?\
8024371250.

8024371251.



9]
%Ok

8024371252.

Question Number : 88 Question Id : 802437313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AT rrar 4 A &t 697991 ¢

1. (i) hv

(ii) O3, Me,S D;;szg
A >

2. NaOEt, EtOH O

Options :

8024371249.

8024371250.

8024371251.



%ﬁg)%

Question Number : 89 Question Id : 802437314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

8024371252.

The major product formed in the following reaction is

O
A ' Pd(OAc

CH, P(i-PrO)s
Options :
Q CcH;
¢ »—=CH,
H
8024371253,
R CHs
=
8024371254
/M2
O
[-// CH3

8024371255.



8024371256.

Question Number : 89 Question Id : 802437314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AT JiraT § BT T ITs 2
0 Pd(OAc)
AcO SiMe Clz
2 P(i-PrO);
Options :
8024371253.

Q CH,
i

Y &H,
A

8024371254.



CI
K"- 2
D

}%
CH3
O
CH,

Question Number : 90 Question Id : 802437315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3

!

8024371255.

8024371256.

The correct sequence of reactions involved in the following

transformation is
OH
O O
NaOEt

E R o
Options :

aldol condensation, Michael addition, aldol reaction
8024371257.

aldol condensation, aldol reaction, Michael addition
8024371258.



Michael addition, aldol condensation, aldol reaction
8024371259.

aldol condensation, Michael addition, Michael addition
8024371260.

Question Number : 90 Question Id : 802437315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

OH
0
)%] NaOEt
s
Options :
TSI HoA, HTZad G, Teelel JI91HaT
8024371257.
-\UJ':'E-] T HEA, i.i_ivﬁ-‘lﬁ ATHTAT |, ATZHe T
8024371258,
AT HFAd, Tes[d T99H, Teeld ATHaT
8024371259,

.y " -

TS FHAA, AT2hd Gd, AT Amead

8024371260.



Question Number : 91 Question Id : 802437316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major products formed in the following reaction is

H O
Me..}\N)Kf,CHa 1. Lba o
Ph 2. PhCH,Br, -60 °C
II"\:N 2
Options :
H ©O
Men)\ JK/CHS
Ph N\: "JlIIIL
N ph
8024371261.
H O
MT;I;_'}\NJS'"CHB
N
Ph—=
8024371262.
H O
Me' ~Ph
F*h)\ \yd s

8024371263.



H 0
.
F'h)}"_ i o
N

Ph-
8024371264,

Question Number : 91 Question Id : 802437316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

H O
Ph "H,:N 2. PhGHEBr, —80 “C
Options :
k1 O
Me“)\NJYCHS
Ph g "”l.ll
N Ph
8024371261.
H 0
Mt ﬂycHa
PRy oy
SN
Ph—~
8024371262.
H j\/
Men. —Ph
Ph}\N,II:M-"'-'CHE

8024371263.



H O

ME"}\ JJ\'__FCH.

pif N 77
)_ N

Ph-—

8024371264.

Question Number : 92 Question Id : 802437317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major product formed in the following reaction is

0 1. PPh,, TBSOTf
2. n-BuLi, Butanal
-

7L/ | 3. TBAF

TBSOTTf = t-Butyldimethylsilyl triflate

TBAF = tetra-n-butylammonium fluoride

L’fj

Options :

8024371265.

8024371266.



8024371267.

8024371268.

Question Number : 92 Question Id : 802437317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

et Frear § Hv=T 9eT 37778 2

0 1. PPh;, TBSOTf
2. n-BulLi, Butanal
-
| 3. TBAF

TBSOTf = t-Butyldimethylsilyl triflate
TBAF = tetra-n-butylammonium fluoride

Options :



8024371265.

O

i{il g
/ ~

8024371266.

O
8024371267.
8024371268.

Question Number : 93 Question Id : 802437318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The major products A and B formed in the following reactions are

Options :

8024371269.

8024371270.

A =

8024371271.

UV light
I3, Oz

“CHj

MeO
OMe O
7 ﬁ}
1
M
MeO "CHy
OMe O

Gk
CHs

CMe O

Mel

BCly
el
HO N"‘CHE
OMe O
O
B =
N
Mel "CH4
OH O
()
M.
Meld CH4
OH O



Y Y

| /% = =
MeO” F N CH, HO™ N CH,

OMe O OMe O
8024371272.

Question Number : 93 Question Id : 802437318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

et atstraTa § Av=T g S AT9TB 2

Ph
PR
UV light BCl;
/‘ﬁ _— A —_— -
N |5, O
MeO CH,
OMe O
Options :
== | = | =
= =
A= j B =
M. M.
Meal GH3 HO GHH-
OMe O OMe O

8024371269.



8024371270.

OMe O
8024371271.

A = e

8024371272.

Question Number : 94 Question Id : 802437319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

/-
|
L
'1
MeO™ “CH,
OH ©
£

MeC NcH,
OH ©
~
II

. N.

HO M CHy

OMe O



The major product formed in the following reaction is

T
-

HO"
Options :
{
) OH
8024371273.

8024371274.



CIH,cO"
8024371275.

8024371276.

Question Number : 94 Question Id : 802437319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HeAToras FfyeaT | Ev =T qeT 30778 2

1. excess TMSCI-Ei;N
;—EI

@
2. .[N¥ ~
[r,[;-/ EBFqJ
F

-

HO"

Options :



8024371273.

8024371274.

8024371275.



8024371276.

Question Number : 95 Question Id : 802437320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The compound that exhibits the following spectral data is
IR (Umax): 1740 cm™

TH NMR: & 0.9 (t, 3H), 1.6 (sext, 2H), 2.3 (t, 2H), 4.6 (d, 2H), 5.2
(d, 1H), 5.4 (d, 1H), 5.9 (m, 1H) ppm

EI-MS (m/z): 71 (100%)

Options :

]
f“\,)J\DW

8024371277.

/“M\DW

8024371278.



*’ﬁ"JL‘DW
8024371279.

O

f’\)\ o =

8024371280.

Question Number : 95 Question Id : 802437320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T o7 et 9is =T g, 92 8
IR (Umax): 1740 cm™

1H NMR: 50.9 (t, 3H), 1.6 (sext, 2H), 2.3 (t, 2H), 4.6 (d, 2H), 5.2
(d, 1H), 5.4 (d, 1H), 5.9 (m, 1H) ppm

EI-MS (m/2): 71 (100%)

Options :
9]
f\)lwc}«fmfﬁ
8024371277.
O
fx\)LD Chs N

8024371278.



O
Mof‘xf

8024371279.

O
mﬂ\af%’f
8024371280.

Question Number : 96 Question Id : 802437321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct statement for the following transformation is

Ph _ Fh Ph
(jgﬂ " I Condition A or B s @i/ m
D e o - e
Z NH, N N7
P Q

Condition A; ag, KOH, EIOH, 0 =C
Condition B: Ha50,, AcOH, reflux

Options :

P is preferentially formed via condition A, under

thermodynamic control.
8024371281.

Q is preferentially formed via condition B, under

thermodynamic control.
8024371282.



P is preferentially formed via condition B, under kinetic

control.

8024371283.
Q is preferentially formed via condition A, under kinetic
control.

8024371284

Question Number : 96 Question Id : 802437321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AT =9aeT & ™ 7387 799 2
Ph Ph Ph
T J‘\\G " Condition AorB | = —’L,M | T
[ % - OO
’\’f NH; - ZNE Z N
P Q

Condition A: ag. KOH, EIQH, 0 °C
Condition B: Ha50y, AcOH, raflux

Options :
FEHTITTT 2 & a9 P #7397 A=y ai e T 39T A+
ZTIT ZET 2

802437128]1.

SCHTITHT F20T % dag Q &7 907 Fv=mg af e fT T B =+

ZTIT ZaT 2
8024371282.



AT T i & daid P &7 3407 ==+ atatmar 1

=TT B % ZTeT 2147 2

8024371283.
TTATA S TTA6T Fale & SAa3d Q FT T4 THav=" qTA 50T &
TAT A ¥ T 31T 2|

8024371284.

Question Number : 97 Question Id : 802437322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct depiction of the strongest hydrogen bonded complex

between benzoate anion and receptor A is

EILu EISU
O._ _NH HM 0
=R a g P
D,-* NTN o
Q
A

Options :

8024371285.



8024371286.
=
EIELl pe ﬂ EFLI
o T T/\"f& NH
00 K
N_ _N "
- Q
8024371287.
Bu Bu
| |
Os NH 83~ HN._O
f’T AR E»
o7 ,N\n,N | =N o
8] P
8024371288.

Question Number : 97 Question Id : 802437322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



AT SEOMTAA TAT ATEr A & Hed A5 TTA g o Araied a5
T AT AT T H TS, T2 2

B
O.__NH
= 0
O
Options :
%u I?u
GTN\H_?? x?,,H,N O
=0 |.I-| |-If[ o ==
M M
Q \‘nf Q
0
8024371285.

8024371286.



8024371287.
I?u I?u
DTNH 'E]? “D HM O
SEEES
M M
8] = = (8]
J T
8024371288.

Question Number : 98 Question Id : 802437323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major product formed in the following reaction sequence is

LS 0\/}/ 1. PhsP=CHCO,Et
=

CHO 2. heat, =200 °C

Options :



MeO 0.0

8024371289.

MeO O O

8024371290.
8024371291.

8024371292.

Question Number : 98 Question Id : 802437323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AT JTAar w8 | =v=d 929 30718 8

MEOUO\/ﬁ/ 1. PhyP=CHCO,Et
-
CHO

2. heat, >200 °C




Options :

MeO O. _0
—
o
8024371289,
MeO 0. _0
2 S
8024371290,
8024371291,
MeO O 0
= o
8024371292,

Question Number : 99 Question Id : 802437324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The correct order for the Hammett Reaction constant (p) for the
deprotonation of the following Carboxylic acids is

0
Q OH
OH
X X
A B c
Options :
B>C>A
8024371293.
C>A>B
8024371294,
A>B>C
8024371295,
A>C>B
8024371296.

Question Number : 99 Question Id : 802437324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



* OH
,O)L X °
X

Options :

B>C>A
8024371293.

C>A>B
8024371294,

A>B>C
8024371295,

A>C>B
8024371296.

Question Number : 100 Question Id : 802437325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The major product formed in the following reaction sequence is

1. NsNH,, DEAD, PPh;

2. CSECDE, H—ELJ4N|
Brr"xuffmhmf’ﬂ“mxfh“{)H -

3. PhSH, KOH

Ns = 2-Nitrobenzenesulfonyl
DEAD = Diethyl azodicarboxylate

Options :

HDWN H.
8024371297.

8024371298.

8024371299.

8024371300.

Question Number : 100 Question Id : 802437325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



AT Jtyear w87 ¥ E=d 929 30718 2

1. NsNH,, DEAD, PPh;

e S e S 2. [:52003' I‘I—BL.I4N|
Br OH >
3. PhSH, KOH

Ns = 2-Nitrobenzenesulfonyl
DEAD = Diethyl azodicarboxylate

Options :

8024371297.

8024371298.

Phs” " ~" ~~""sph
8024371299.

8024371300.

Sub-Section Number : 3
Sub-Section Id : 80243717
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 802437326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Let the Hamiltonian H, in one-dimension, be

f =L + V(x).

2m

The commutator of H with x, [H, x], is

Options :

o

m Fx
8024371301.

o

21T *
8024371302.

iég}

X

8024371303,

4

2m %
8024371304

Question Number : 101 Question Id : 802437326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



o fifem v G g 2fee=dt v

_ Px 3
H—Em‘i‘V(X:} T

H T x & A7 #9227 [H,x] 2

Options :

o

" X
8024371301.

o

21T *
8024371302,

iég}

X

8024371303,

4

o Px
8024371304

Question Number : 102 Question Id : 802437327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For an electron in 1s orbital of He™, the average value of r, (r) is

Options :



8024371305.

~d

4 0
8024371306.

3a,
8024371307.

1
8024371308.

Question Number : 102 Question Id : 802437327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

He' & 1s 9% | Ta@2id & r T A@T A9 (1) &
Options :
2 1
5 0
8024371305.
=
4 0
8024371306.
3a,

8024371307.



1
8024371308.

Question Number : 103 Question Id : 802437328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider a particle on a ring that is perturbed by interacting with
an applied electric field (E) with the perturbation being

H = uE cos ¢, where p is the dipole moment. The energy levels
correct upto first order are

Options :
mih® _ uE
2 T
8024371309.
meh 25
21 2m
8024371310.
ml;zﬁz HE
21 21
8024371311.
m;zﬁz
8024371312, 2!

Question Number : 103 Question Id : 802437328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



1 97 27 % v A % v o gu A 9 (B) 7 ST w9
FENT ATHT g, W AR fiem IR 9T H = pyEcos¢ 2, eI 1T 1
TSt areoT 2 97 WOH FiE T T8l ST w97 2

Options :
i LA
2
8024371309. T
mh . B8
21 2T
8024371310.
ml;zﬁz HE
21 2T
8024371311.
ml;zﬁz
8024371312, 2

Question Number : 104 Question Id : 802437329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For a model system of three non-interacting electrons confined in a
two dimensional square box of length L, the ground state energy in

units Df( th ) is

aml?

Options :



14

8024371313
6
8024371314,
4
8024371315.
9
8024371316.

Question Number : 104 Question Id : 802437329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TE AL A AAAT AT AT TAF =1 w7 U e FEw v e L w

P i = - = L hz
BT TR T | HJHT 21 Feaw saeqr 77 3., (8 Lz) #£T
) T
Options :
14
8024371313.
6
8024371314.
4

8024371315.



9
8024371316.

Question Number : 105 Question Id : 802437330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The term symbol for the ground state of dinitrogen cation radical

(N3) is
Options :
2
My
8024371317.
2
bl
8024371318.
2
rlé?
8024371319.
22_[_
g
8024371320.

Question Number : 105 Question Id : 802437330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

STEATZZIAA 9T T (V) A e sraeen & for 7 9ol ¢

Options :



8024371317.
[
Yu
8024371318.
2
I_lg
8024371319.
2E+
g
8024371320.

Question Number : 106 Question Id : 802437331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Dan |[E | 2C3|3C2 |0y |253| 3 g,

" o B 1 I 1 x% +y2,z2°
A1 1 |11 1] R,

E 2= |.0 |Z|=1| D (x,y) | x2—y?,xy
5 1| 1 |1 -1 -1

Ax (T 1 | |45 | 1 z

= 2 2|8 |29 0 | (R Ry)| (xz,y2)

The observed IR spectrum for BCl; exhibits three bands at 995,
480 and 244 cm™', while the Raman bands are observed at 995,
471 and 244 cm™'. Given that for BCl;, [,;, = Ay + 2E + A, the
frequency of A; mode incm™is

Options :

244
8024371321.

471
8024371322,

480
8024371323,

995
8024371324,

Question Number : 106 Question Id : 802437331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Dsn |E|2C3|3C2|94|2S3 |30,

A1 1 |1 |17 | 1 e
- P A P T N R,

E 2| 4|0 |2|-%|0 | ®3 (2*=pixy
A (1) 4 | 4 |=1|=4A | =9

A7 1] 1 | <1 |11 1 z
E”l2] 1| 0 |2 1| o |BuRy)| (xz,y2)

BCl, &7 UTerT IR #0928 19 =5 995, 480 T4T 244 cm™! 7% T91T4T &,

STaT 79 aved 995, 471 9T 244 cm™! 9T UTAT gra 21 BCl, &
ferm fome My, =4, +2E + 4,1 A, A= H em ™ Fagiwr g

Options :

244
8024371321.

471
8024371322.

480
8024371323.

995
8024371324



Question Number : 107 Question Id : 802437332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given the matrices for C; and g; below,

Af2 N3IZ D L 6 @
CE = \.-"IJE/Z _1/{2 0 Op = 0 1 0
0 0 1 0 O =1

the trace of the matrix representing for 53 is
Options :

0
8024371325,

8024371326.

8024371327. 1

=
8024371328.

Question Number : 107 Question Id : 802437332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Cs TIT g, & Torm ffeFa Fr= &7 T €,

=12 =f3/2 © i 6 @

G= |32 =1j32 0 D 4 0
0 0 1 T
S2 T A THTEeT Fee ATl HIZaT o Aqd T 2
Options :
0
8024371325.
-2
8024371326.
1
8024371327.
-1
8024371328.

Question Number : 108 Question Id : 802437333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The energy separation of ?C'®0 rotational energy levels between
J"=3 and J" = 9is 24 cm . The rotational constant of *C'®0 in
cm~' is closest to

Options :

299
8024371329.



0.88

8024371330.

90
8024371331.
s024371332. 208

Question Number : 108 Question Id : 802437333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

12C160 & ["=3 4T J" = 9 HOH Sl ¥71 & WeT ST TTF9 24 cm™
g1 13C160 F form oot Rorvidm em' § e 9w 8, 98 8

Options :

2.98
8024371329.

0.88
8024371330.

1.90
8024371331.

8024371332. el

Question Number : 109 Question Id : 802437334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The vibrational transition energies of a diatomic molecule
correspondingtov =1« v =0 and v=2 «v=1 are
21431 cm™tand 2116.1 ecm™1, respectively. The anharmonic
constant (w,x,) of the molecule in cm™ is

Options :

27
8024371333.

8024371334. 13.5

10
8024371335.

8024371336. 32

Question Number : 109 Question Id : 802437334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

WWW%%’” v=1lcpv=0damv=2 FL’ZI%W
FAAE AHAT FAA ¢ FAD: 21431 cm™! FAT 2116.1 cm™t | H FT
(wex,) cm™ F ATHATET FITTH 2

Options :

8024371333.



135

8024371334
10

8024371335.

8024371336, O

Question Number : 110 Question Id : 802437335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The change in chemical potential (in J) of one mole of an ideal gas,
when it is compressed isothermally at 300 K from 1.0 atm to 2.0 atm,
is closestto (In2 = 0.69)

Options :

1225
8024371337,

8024371338. 1725

2425
8024371339.

8024371340. 2725

Question Number : 110 Question Id : 802437335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



ATEeT 9 F TF JieT F7 300 K 97 79amdY #91=+ 1.0 atm & 2.0 atm 7%
FIA 2 AT TEEEE =FET (J ®) F qFad e Weeaw 2 98 2
(In2 = 0.69)

Options :

1225
8024371337.

1725
8024371338.

2425
8024371339.

8024371340. 2725

Question Number : 111 Question Id : 802437336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The excess molar entropy of mixing of liquid A with liquid B is
—R1In2. The experimentally observed change in entropy upon
mixing 1.0 mol of liquid A with 1.0 mol of liquid B is

Options :

—2RIn2
8024371341,

+4RIn2
8024371342.



8024371343.

+RIn2
8024371344,

Question Number : 111 Question Id : 802437336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

39 A FT 57 B 7 THT9a #37 77 afes T /a7 2t —RIn2 3159 A F
1.0 mol % 57 B & 1.0 mol & T TH{T 3 9% TATRF =T 7 T4 J

Options :

—2RIn?2
8024371341.

+4R1In2
8024371342.

0
8024371343.

+RIn2
8024371344.

Question Number : 112 Question Id : 802437337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The entropy in terms of internal energy {U — U(0)}, and canonical
U-U(0)
T
the atoms are distinguishable, the corresponding expression for a

monatomic perfect gas is

[Here n, m, Ny, k and h represent number of moles, mass of atom,
Avogadro constant, Boltzmann constant and Planck constant,
respectively. U(0) is internal energy at T = 0].

partition function (Q) is given by S = + kIn Q. Assuming that

Options :
5 V(2m mkT)3/2
S=—*.'1.R+ir1Rln{Ii _3 }
2 niNah
8024371345.
3 Vi(2m mkT)3/2
S:—n.R+ann{{ ) }
2 h3
8024371346.
5 V(2m mkT)3/2
S:—?1R+?1Rln{{ﬂm }
2 h3
8024371347.
3 V(2w mkT)3/2
S=—nR+ann{( ' ]
2 'TI,NAhE
8024371348.

Question Number : 112 Question Id : 802437337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



qratew Set (U — U(0)) 7a7 ffEs FBrarss weT (Q) % 7= § vZrdt S &7

—

uio i
e T“”+k111@ﬁ‘ﬁmm%|mafrﬁﬁﬁ%rwxﬁww T
AT T F T AT =T 2
[F8T 9% n, m, Ny, k TAT /4 T F4d & FHAT: HIAT 300 TEAT, TEHTI

Hgd, dansr FEaiw, Seeaaw Faaiw a9 wiw fEaw w7 0
U(0),T = 0 9% SA(qTea ool 2 |.

Options :
5 V(2m mkT)3/2
S=—*.'1.R+ir1Rln{Ii _3 }
2 niNah
8024371345.
3 Vi(2m mkT)3/2
S:—n.R+ann{{ ) }
2 h3
8024371346.
5 V(2m mkT)3/2
Sz—nR+ann{{ﬂm }
2 h3
8024371347.
3 V(2w mkT)3/2
S=—nR+ann{( ' }
2 'TI,NAhE
8024371348.

Question Number : 113 Question Id : 802437338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



For a van der Waals gas, the partial derivative (z—i’:) IS
T

Options :

an

a

8024371349.
8024371350.

8024371351.

=t

m

8024371352.

Question Number : 113 Question Id : 802437338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ATeS 7 7oA I & ToT A9 e (g_;[i) z
8

Options :

3

8024371349.



8024371350.
a
Vin
8024371351.
a
Vil‘l'l
8024371352.

Question Number : 114 Question Id : 802437339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An aqueous solution contains 0.02 mol kg~ NaCl and 0.03 mol

kg~ Ca(NO3)2. The logarithm of the mean ionic activity coefficient

(logys) of this solution at 25 °C is

Options :

—v0.095
8024371353.

v0.154

8024371354.

—0.033
8024371355.

—v0.11

8024371356.



Question Number : 114 Question Id : 802437339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TH AT Feaaw § #ArEsE § 0.02 mol kgt NaCl 7=t 0.03 mol

kg™ Ca(NOs)z | 25 °C 7% TH A=+ T AT AAAF TaaaT [oTH
FT AT (logys) B

Options :

—v0.095
8024371353.

v0.154

8024371354.

—0.033
8024371355.

—v0.11
8024371356.

Question Number : 115 Question Id : 802437340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Molar conductivities of an electrolyte are 100 and 50 mS cm? mol-'
when concentrations are 4 and 9 mM, respectively. The limiting
molar conductivity of this electrolyte in mS cm? mol-' is closest to

Options :



150
8024371357,

8024371358. 200

250
8024371359.

300
8024371360.

Question Number : 115 Question Id : 802437340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4 FAT 9 mM TTHAT & T HEa-ATH2T 1 Ja? ATasmars maer: 100 747

50 mS cm2 mol™ g1 =7 F=A- =T Fit F7H Ae? ATaHaT mS cm?

mol! ¥ o FFzan 298 2

Options :

150
8024371357.
8024371358. 200

8024371359.



300
8024371360.

Question Number : 116 Question Id : 802437341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The concentration (C) of a compound undergoing decomposition
as a function of time  (t) is given below:

t/min |0 1 2 4 6
C/M 1.000.80|0.67|0.50|0.40

The order of the reaction is
Options :

8024371361.

8024371362.

8024371363.

8024371364.

Question Number : 116 Question Id : 802437341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



T AT 2T 7g AT &1 AGAT (C) T 6T (t) 7 T F= (&7 7491

=,
.

t/min |0 1 2 4 6
Cc/M 1.00|{0.80|0.67 |0.50|0.40

Options :

8024371361.
8024371362.

8024371363.

8024371364.

Question Number : 117 Question Id : 802437342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Substance ‘A’ is exposed to 600 nm, 100 W light source for
6626 s, with 50% of the incident light being absorbed. ‘A’
decomposes according to the reaction A — 2B. As a result of
irradiation, 0.2 mol of B is produced. The quantum vyield of the
reaction is closest to



Options :

6 x 10°
8024371365.

6x 1074
8024371366.

6x 10772
8024371367.

8024371368.

Question Number : 117 Question Id : 802437342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

600 nm 7% 100 W & T&1eT &= & 7219 ‘A’ Fl 6626 s % dAATa1T
FIA TE, ATAT THIT FT 50% FFT0d 3r q0GT 21 A T ATHEA
afafF =T A - 2B ¥ 4941 AT 21 90T ¥==T B F 0.2 mol ST
ZIT 3| ATTTHAT T F12H e o MF2aq 2, T2 2

Options :

6 x 10°
8024371365.

6x 10°*
8024371366.



—2
x 10
8024371367,

8024371368. 6

Question Number : 118 Question Id : 802437343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A gas is known to satisfy Langmuir isotherm when adsorbed on a
certain metal surface. If the fractional coverage of the gas is 0.5
when the gas pressure is 1.0Pa, the fractional coverage at
3.0 Pa would be closest to

Options :

8024371369. 0.67

0.75
8024371370,

8024371371. 0.80

1.0
8024371372.

Question Number : 118 Question Id : 802437343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



F T T T O g T 99 AT gret € 7 AT AT wm
Tz F7AT 81 712 {7 F 21w 1.0 Pa 97 i g7 &Afors =y 0.5 &, Av

3.0 Pa 7% #iT9r =TTy oA+ &9 gri, 98 2

Options :

8024371369. 0.67

0.75
8024371370.

8024371371. 0.80

1.0
8024371372,

Question Number : 119 Question Id : 802437344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Iron belongs to the BCC lattice. The Miller indices of the second
allowed reflection in the powder diffraction pattern of iron would be

Options :

(100)
8024371373.

(111)
8024371374,



(200)
8024371375.

(210)
8024371376.

Question Number : 119 Question Id : 802437344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T BCC SToT® & a3d &ATaT gl A7 & GTeS (a9a 92+ 7 f5aird

e e N - - .=
ATHT TG & THAL AR @17

Options :

(100)
8024371373.

(111)
8024371374,

(200)
8024371375.

(210)
8024371376.

Question Number : 120 Question Id : 802437345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The degree of polymerization at t = 10h of a polymer formed
by a stepwise process with polymerization rate constant of
3 x 1072 M~ *s™! and an initial monomer concentration of 50 mM is
Options :

8024371377. 55

8024371378. 65

550
8024371379,

505
8024371380.

Question Number : 120 Question Id : 802437345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T ggAw Fres Aty 7 A= g g, S agetwo 57 Raam

3X 102 M s g U HF TFam s Aigar 50 mM & ™t = 10 h 9%
ELEA az,ﬂr‘iane_m E?ET%

Options :
8024371377. 53

8024371378. 65



550
8024371379,

505
8024371380.



